
Pinball machine

Materialeforbruk

Materiale Antall Betalt?

MDF 6mm Halv plate

Mutter M8 2stk

Bolt M8 45mm 2stk

T-nut M8 2stk

Mutter M5 2stk

Bolt M5  2stk

Skiver M8 4stk

ESP32 1stk

3D-print 33g + 37g

Akryl 3mm 74x350 mm

Hinder

Grovmech rotte

Robowarsarena

OBS H

CoE- pc 

Inspirasjon /kjelder

Flippermekanisme:


	Pinball machine

